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You need toy money

Activity
Tio, Leigh, and Greg are going to the swimming pool.  They are
waiting for the bus.  They have these coins:

Tio has:

Leigh has:

Greg has:

I’ll pay the $2.10 to cover all
our fares, and then you can
pay me back in the bus. That’s a good idea,

Tio.  I haven’t got
the right change.

Neither have I.

Sorry, the fare is
now 90 cents each.

The bus driver does not
give change, so each person
has to pay the exact fare.
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1. How much do they think the fare is?

2. How can Leigh and Greg pay Tio back?

3. When they get on the bus, the driver says:

If Leigh pays the driver $2.20 and Tio pays the remaining
50 cents, how can they pay the exact fare now?

Solving money problems with addition and subtraction

Time for Change
Number-Level 3


